
Calculus II

Concavity and Convexity

show that the points ofinflexion of

thecurve

y
=

(x - a)(x -b) lieson
theline

3x +a =4b.

Sol y2=(x - a((x - b)
=

y =I(n - a)sb



Gety =(x - a)b

-y =(n - a) ty +

()

-I
f(x - b)

=x- a +2x - 2b

-
2



dy =sn
-

a - 2b
-
25b

x-1

- -c()-sn-c-cb)t

=

- 3x +a +2b

G(n - b)3k



-Su
te

= 3x +a
- 4b
- Q-y 4(x -b(P2

for point ofinflexion

dayc =0



3x +a - ub =0 (fromp

3x +a=4b

similarly ifwe take

y =- (x - c)Jrb. Wewill

find point ofinflexion
on 3 +

2 =4b

Hence Proved
*


